EARAROBREBRT —5 XN—ZXBISH—F

2022618258 (X)) 10EIEHME

Ml v>x%c258 555

\(9&1&1 n ‘I%EH?’JFQ] | & 1000 =

[AE%] 1%:270,000 "  2%:81,000H  3&:41,000H . 47%&:27,000H  53&:14,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< - A% :35. -4-4- 2| - WEHEE (B
111l vvevo—uT io4 | Bk 1(3_5)0 4442 | 822 5 (4+110) s A
R:F4—FIJUSYF H:O0-UI YA9ITT7—L1L
— S~ RN :35. -2-1- . - HEEE (%)
27| 7| FERITUFY N % 4 | BER o B UG (e T
R:b—EVRILRY B:3VIT REFI Ml SRE
3 — 4 6 | BAEE 1:36.4 7-7-6-6 | 42.6| — 4 467 | BHIES (%)
38| 8| FYUM—ILF3 £54.0 ® Gy | @ gr—2hevay
RiFvInAO— B:YISIYTFrZ— LIEB%US
== fo4 | REEZ 1:36.4 3-3-3-3 | 4.0 - 2 161 | BAB— ()
4189 7T7U—=5 540 (FI) (-3 |HEOHE
RALVIVYLYY B9 7=SYUT o« NYERTT—L
N o AR :36. -5-5- 5 - DR (%4
505 5| E2IRLTTYS "D s I IR M IARE o B
REVFOVY 8:NTzx FoyiS e ]
= = 4 6 | DOEEFAE 1:37.8 8-8-8-7 |43.4| — 8 433 | BHIES (%1
SAIS 54.0 7 o | @ w=257
RNV H—IL BEVAIXY oAy 3B
eay — EHIES :39. -1-2- 3| - BHES (&)
TAIWRY p—=— R4 - L e i il i e
RiXAY3oRk—5— #:7Fravs JESEERBUS
= @ RIIE1E : G4 = EARB— (%A
SYRTH—R o6 | SuIm 1'(?)'2 6-6-7-8 | 46.2 7 (4_436) e
RIN—EVIr— §:0074—R J—H¥YT7—1
N o7 | B 1:41.4 9-9-9-9 |46.2| - 9 | 496 |BHAESR (&)
L=k 56.0 ®) g | B w=277
RFRIAVL—Y BHYSA L=V BO4S
@ 11— —‘@BIEfI
13—7F— 7,2,9,1,5,3,8,4,6
20—7F— 2,7,9,1,5,3,8,4,6
31—7F— 7,2,9,1,5,8,3,4,6
43—F— 7,1,(,9),5,8,4,3,6
o ILRE
BB 1 2,400 | [ D1 K 1-7 470 AN 1-7 2,130 3EE 1-7-8 3,500
B B 1 220/ 1-8 1,160 F5 EE 1-7 2,490H 3EE 1-7-8 34,540
7 130 7-8 1604 o= 1-7 7,680M
8 180M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.




